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• bl iz'u-i= esa 36 cgqoSdfYid iz'u fn;s x;s gSaA izR;sd iz'u 2 2
1  vadksa dk 

gSA lHkh iz'u vfuok;Z gS aA 

This Question Paper contains 36 multiple choice questions 
carrying 2 2

1   marks each. All the questions are compulsory. 

• mÙkj i=d ¼vks0 ,e0 vkj0½ ij fooj.k fy[kus / mÙkj nsus ds fy, dsoy   
dkys / uhys ckWy ikWbUV isu dk iz;ksx djsaA 

Use Black/Blue ball point pen only to write details/mark 
answers on the answer sheet. 

• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 24 rFkk ç'u 36 gSaA 

Please make sure that the printed pages in this question paper 
are 24 in number and it contains 36 questions. 
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• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s lctsDV dksM uEcj ,oa DosLpu 
isij dksM dks Nk= vks0 ,e0 vkj0 ij fy[ksaA 
The Subject Code No. and the Question Paper Code on the 
right side of the question paper should be written by the 
candidate on the O. M. R. Sheet. 

• vifBr mÙkj ;k ,sls mÙkj ftUgsa dkVk ;k cnyk x;k gS] fujLr dj fn;s tk,¡xsA 
Illegible answers or answer with cutting and overwriting will be 
cancelled. 

• fn;s x;s 4 fodYiksa (A), (B), (C) vkSj (D) esa ls ijh{kkFkhZ dks izR;sd iz'u ds mÙkj 
ds fy, lokZf/kd mi;qDr dsoy ,d gh fodYi pquuk gSA 
From the given 4 alternatives (A), (B), (C) and (D) the candidate 
has to select only one most appropriate alternative for each 
question. 

• ijh{kkFkhZ mÙkj i=d ¼vks0 ,e0 vkj0½ ij viuk vuqØekad vadksa ds lkFk-lkFk xksys 
esa Hkh HkjsaA 

The candidate should fill his/her Roll No. with figures in the 
appropriate circles of the O. M. R. Sheet. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 
Candidate must write their Roll No. on the question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh 
gS] ijh{kk ds mijkUr bl lEcU/k es a dksbZ Hkh nkok Lohdkj ugha fd;k 
tk;sxkA 

 Before answering the question, ensure that you have been 
supplied with the correct and complete question paper, no 
claim in this regard will be entertained after examination. 

• jQ dk;Z ds fy, vUr esa pkj i`"B fn;s x;s gSa] mUgsa iz'u-i= ls vyx u djsaA 
 Last four pages are given for rough work, do not separate them 

from the question paper. 

• dSYD;qysVj dk iz;ksx vuqeU; ugha gSA 
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 Calculator is not allowed. 

1. og /kujkf'k tks xzkgd }kjk fdlh oLrq dks [kjhnrs le; mlds ewY; ds 
vkaf'kd Hkqxrku ds :i esa djuh iM+rh gS] dgykrh gS   

(A) ewy/ku (B) udn ewY; 

(C) rRdky udn Hkqxrku (D) fdLr  

The amount which a customer has to pay as part payment of 
the price of an article at the time of its purchase is called    

(A) Principal (B) Cash Price  

(C) Cash Down Payment (D) Instalment  

2. fdl Hkkjrh; xf.krK us loZizFke O;kid f}?kkr lehdj.k ds ewyksa ds fy, 
lw= izfrikfnr fd;k 

(A) Jh/kjkpk;Z (B) egkohj  

(C) czg~exqIr (D) vk;ZHkV~V  

Which Indian Mathematician first gave a formula for 
determining the roots of the general quadratic equation  

(A) Sridharacharya (B) Mahavira  

(C) Brahmagupta (D) Aryabhatta  

3. isVªksy dh ,d csyukdkj Vadh ds vk/kkj dk O;kl 21 lseh rFkk yEckbZ  
18 lseh gSA og 'kaDokdkj fljksa ls tqM+h gS] ftuesa ls izR;sd dh  
v{k-yEckbZ 9 lseh gSA Vadh dh /kkfjrk gksxh   

(A) 8316 cm 3  (B) 8316 m 3  
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Formatted(C) 831.6 cm 3  (D) 831.6 m 3  

A petrol tank is a cylinder of base diameter 21 cm and 
length 18 cm fitted with conical ends each of axis-length  
9 cm. The capacity of the tank is    

(A) 8316 cm 3  (B) 8316 m 3  

(C) 831.6 cm 3  (D) 831.6 m 3  

4. fdlh _.k dks nks leku v/kZokf"kZd fdLrksa esa pqdkuk gSA ;fn 16% okf"kZd 
C;kt dk la;kstu Nekgh gks rFkk izR;sd fdLr 1,458 #0 dh gks] rks _.k 
dh jkf'k gksxh   

(A) 3,382 #0 (B) 2,916 #0 (C) 2,600 #0 (D) 2,450 #0 

A loan has to returned in two equal semi-annual instalments. 
If the rate of interest is 16% p. a. compounded semi-
annually and each instalment is Rs. 1,458 then the sum 
borrowed is    

(A) Rs. 3,382 (B) Rs. 2,916 (C) Rs. 2,600 (D) Rs. 2,450 

5. ;fn fdlh lekUrj Js.kh dk 7ok¡ in 32 rFkk 13ok¡ in 62 gks] rks bldk 
lkoZvarj gksxk   

(A) 5 (B) 4 (C) 3 (D) 2 

If the 7th term of an A. P. is 32 and 13th term is 62, then its 
common difference is    
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(A) 5 (B) 4 (C) 3 (D) 2 

6. ;fn f}?kkr lehdj.k   

084 2 =−+ ptt  

ds ewy leku gksa] rks p dk eku gksxk    

(A) –2 (B) –3 (C) – 4 (D) 4 

If the roots of the quadratic equation    

084 2 =−+ ptt  

are  equal, then the value of  p is    

(A) –2 (B) –3 (C) – 4 (D) 4 

7. ;fn fdlh xksyk/kZ dVksjh ds dksj dh ifjf/k 132 lseh gks] rks dVksjh dh 
/kkfjrk gksxh   

(A) 6174 π lseh 3  (B) 6174 lseh 3  

(C) 9261 π lseh 3  (D) 12348 lseh 3  

If the circumference of the edge of a hemispherical bowl is 
132 cm, then the capacity of the bowl is    

(A) 6174 π cm 3  (B) 6174 cm 3  
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8. fuEufyf[kr lehdj.k fudk; dk gy gksxk   

  abbyax −=+  

  )( baaybx +−=−  

(A) 1,1 == yx  (B) 1,1 −== yx  

(C) 1,1 −=−= yx  (D) 1,1 =−= yx  

The solution of the following system of equations    

  abbyax −=+  

  )( baaybx +−=−  

is    

(A) 1,1 == yx  (B) 1,1 −== yx  

(C) 1,1 −=−= yx  (D) 1,1 =−= yx  

9. ,d ia[kk 970 #0 udn ewY; vFkok 210 #0 rRdky udn Hkqxrku rFkk 
rhu leku ekfld fdLrksa ij feyrk gSA ;fn fdLr ;kstuk esa fy, x, 
C;kt dh nj 16% okf"kZd gks] rks ekfld fdLr gksxh   

(A) 323 #0 (B) 242 #0 (C) 260 #0 (D) 253 #0  

A ceiling fan is marked at Rs. 970 cash or Rs. 210 cash 
down payment followed by three equal monthly instalments. 
If the rate of interest charged under the instalment plan is 
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16% p. a., then the monthly instalment is    

(A) Rs. 323 (B) Rs. 242 (C) Rs. 260 (D) Rs. 253  

10. izFke in f  rFkk lkoZvarj d okys lekUrj Js.kh dk pok¡ in gksxk   

(A) dpf )1( −+  (B) fpd )1( −+  

(C) )(2 dfn +  (D) dnf )1( −+  

The pth term of an A. P. whose first term is f and common 
difference is d, is    

(A) dpf )1( −+  (B) fpd )1( −+  

(C) )(2 dfn +  (D) dnf )1( −+  

11. ,d fHkUu ds va'k rFkk gj dk ;ksx 12 gSA ;fn mlds gj esa 3 tksM+k 
tk,] fHkUu 2

1  cu tkrk gSA mldk gj gksxk   

(A) 7 (B) 6 (C) 5 (D) 4 

The sum of the numerator and denominator of a fraction is 
12. If the denominator is increased by 3, the fraction 
becomes 2

1 . The denominator is    

(A) 7 (B) 6 (C) 5 (D) 4 

12. lekUrj Js.kh   

56, 63, 70, 77, ................ 
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(A) 64ok¡ (B) 63ok¡ (C) 62ok¡ (D) 65ok¡ 

Which term of the A. P.  

56, 63, 70, 77, ................ 

is  497   

(A) 64th (B) 63rd (C) 62nd  (D) 65th  

13. vk;ZHkV~V dh okf"kZd vk; 2,80,000 #0 ¼edku-fdjk;k HkÙkk NksM+dj½ 
gSA og 6,000 #0 izfrekg Hkfo"; fuf/k esa tek djkrk gS rFkk  
8,000 #0 okf"kZd thou chek esa fdLr nsrk gSA foÙkh; o"kZ esa mldk ns; 
vk;dj gksxk [ iz;ksx dhft, % vk;dj x.kuk rkfydk ¼ns[ksa i`"B la0 20½ ] 

(A) 16,000 #0 (B) 15,300 #0 

(C) 15,000 #0 (D) 13,200 #0 

The annual income of Aryabhatta is Rs. 2,80,000 (exclusive 
of HRA). He contributes Rs. 6,000 per month towards his  
P. F. and pays an annual LIC premium of Rs. 8,000. The 
income tax payable by him in the financial year is    

[ Use : Income Tax Calculation Table (See Page No. 20) ] 

(A) Rs. 16,000    (B) Rs. 15,300  

(C) Rs. 15,000 (D) Rs. 13,200  

14. ;fn jSf[kd lehdj.k fudk;] vkys[kh; fof/k ls ,d vf}rh; lkoZgy j[krs 
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gSa] rks lehdj.kksa dks fu:fir djus okyh js[kk,¡ gksaxh   

(A) cjkcj (B) laikrh  

(C) lekarj (D) izfrPNsnd  

If the system of linear equations graphically have a unique 
common solution, then the lines representing the equations 
are    

(A) Equal (B) Coincident  

(C) Parallel (D) Intersecting  

15. ifjes; O;atd   

216
366

3

234

+

+−

x
xxx

 

dk fuEure in gksxk   

(A) 
6

2

+x
x

 (B) 
6

2

+
−

x
x

 

(C) 2
6

x
x +

−  (D) 2
6

x
x +

 

The lowest term of the rational expression,    

216
366

3

234

+

+−

x
xxx

 

is    
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(A) 

6

2

+x
x

 (B) 
6

2

+
−

x
x

 

(C) 2
6

x
x +

−  (D) 2
6

x
x +

 

16. ,d ?ku ds vk;ru rFkk ml xksys ds vk;ru dk vuqikr] tks ?ku esa Bhd 
lek tkrk gS] gksxk   

(A) π : 6 (B) 6 : π (C) 6 : 2π (D) 12 : π  

The ratio of the volume of a cube to that of a sphere, which 
will exactly fit inside the cube, is  

(A) π : 6 (B) 6 : π (C) 6 : 2π (D) 12 : π  

17. ,d lkbfdy 1,800 #0 udn ewY; vFkok 600 #0 rRdky udn Hkqxrku 
rFkk 610 #0 izfr ekl dh nks ekfld fdLrksa ij csph tkrh gSA fdLr 
;kstuk esa C;kt dh nj gksxh   

(A) 13.41% okf"kZd (B) 13.31% okf"kZd  

(C) 13.21% okf"kZd (D) 13% okf"kZd  

A bicycle is sold for Rs. 1,800 cash or for Rs. 600 cash 
down payment followed by two monthly instalments of  
Rs. 610 each. The rate of interest charged under the 
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instalment scheme is    

(A) 13.41% p.a. (B) 13.31% p.a. 

(C) 13.21% p.a. (D) 13% p.a. 

18. f}?kkr lehdj.k   

),(;2 qpx
px

q
qx

p
≠=

−
+

−
 ds gy gksaxs   

(A) 
2

, qpqp +
−+  (B) 

2
, qpqp +

−−−  

(C) 
2

,
qpqp ++  (D) 

2
, qpqp +−−  

The solutions of the quadratic equation    

),(;2 qpx
px

q
qx

p
≠=

−
+

−
 are    

(A) 
2

, qpqp +
−+  (B) 

2
, qpqp +

−−−  

(C) 
2

,
qpqp ++  (D) 

2
, qpqp +−−  

19. k ds fdl eku ds fy, lehdj.k fudk;   

  13 =+ yx  
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Formatted  12)1()12( +=−+− kykxk  

dk dksbZ gy ugha gS   

(A) 4=k  (B) 3=k  

(C) 2=k  (D) 1=k  

The value of k for which the system of equations    

  13 =+ yx  

  12)1()12( +=−+− kykxk  

have no solution    

(A) 4=k  (B) 3=k  

(C) 2=k  (D) 1=k  

20. cgqinksa   

62 −− xx  rFkk 273 −x  

dk egÙke lekiorZd gS   

(A) 932 ++ xx  (B) 2+x   

(C) 3−x  (D) 3+x  
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The H C F of polynomials    

62 −− xx  and 273 −x  

is    

(A) 932 ++ xx  (B) 2+x   

(C) 3−x  (D) 3+x  

21. fdlh /kkrq dh pknj ls cuh ,d ckYVh ,d 'kadq ds fNUud vkdkj dh gSA 
bldh fr;Zd Å¡pkbZ 26 lseh rFkk Åijh vkSj fupys fljksa ds O;kl Øe'k% 
30 lseh rFkk 10 lseh gSaA ckYVh dk lEiw.kZ i`"Bh; {ks=Qy gksxk   

(A) 2600 π lseh 3  (B) 545 π lseh 2  

(C) 520 π lseh 2  (D) 325  π lseh 2  

A bucket made up of a metal sheet is in the form of a 
frustum of a cone. Its slant height is 26 cm  and the 
diameters of the top and bottom are 30 cm and 10 cm 
respectively. The total surface area of the bucket is     

(A) 2600 π cm 3  (B) 545 π cm 2  

(C) 520 π cm 2  (D) 325  π cm 2  

22. ,d O;fDr dh okf"kZd vk; ij yxk, x, dj dks dgrs gSa  

(A) mRikndj (B) fcØhdj  

(C) vk;dj (D) /kudj  
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FormattedTax imposed on an individual annual income is known as    

(A) Excise Tax (B) Sales Tax  

(C) Income Tax (D) Capital Tax  

23. ;fn a, b rFkk c /kUkkRed okLrfod la[;k,¡ gksa] rks pj y esa f}?kkr 
lehdj.k dk O;kid :i gksxk   

(A) 02 =+ byay  (B) 02 =ay  

(C) 02 =++ cbyay  (D) 02 =+ cay  

If a, b and c are positive real numbers, then the general 
form of a quadratic equation in variable y is    

(A) 02 =+ byay  (B) 02 =ay  

(C) 02 =++ cbyay  (D) 02 =+ cay  

24. ;fn )(xp  rFkk )(xq nks cgqin gksa] rks budk LCM  × HCF = 

(A) )(.)( xqxp  (B) )()( xqxp ÷  

(C) )()( xqxp −  (D) )()( xqxp +  

If )(xp  and )(xq are two polynomials then their LCM  × 
HCF = 

(A) )(.)( xqxp  (B) )()( xqxp ÷  

(C) )()( xqxp −  (D) )()( xqxp +  
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25. lehdj.k fudk;   

  0111 =++ cybxa  

  0222 =++ cybxa  

dk ,d vf}rh; gy gksxk] ;fn  

(A) 01221 ≠+ baba  (B) 01221 =+ baba  

(C) 01221 ≠− baba  (D) 01221 =− baba  

The system of equations    

  0111 =++ cybxa  

  0222 =++ cybxa  

has a unique solution if    

(A) 01221 ≠+ baba  (B) 01221 =+ baba   

(C) 01221 ≠− baba  (D) 01221 =− baba  

26. izFke in f vkSj vafre in l okys lekUrj Js.kh ds m inksa dk ;ksxQy 
gksxk     

(A) lmf )1( −+  (B) )(2 lm
f

+  

(C) )(2 lfm +  (D) )(2 fml +  
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Formatted

FormattedThe sum of m terms  of an A. P. whose first term is f and last 
term is l, is      

(A) lmf )1( −+  (B) )(2 lm
f

+  

(C) )(2 lfm +  (D) )(2 fml +  

27. ,d 'kadq 8.4 lseh Å¡pk gS rFkk mlds vk/kkj dh f=T;k 2.1 lseh gSA ;fn 
mls fi?kykdj ,d xksys ds :i esa <kyk tkrk gks] rks xksys dh f=T;k gksxh   

(A) 8.4 lseh (B) 6.3 lseh (C) 4.2 lseh (D) 2.1 lseh  

A cone is 8.4 cm high and the radius of its base is 2.1 cm. If 
it is melted and recast into a sphere, then the radius of the 
sphere is    

(A) 8.4 cm (B) 6.3 cm (C) 4.2 cm (D) 2.1 cm  

28. 5 ls iw.kZ foHkkftr gksus okyh] 200 ls de lHkh izkd`r la[;kvksa dk 
;ksxQy gS   

(A) 3800 (B) 3900 (C) 4000 (D) 1000 

The sum of all natural numbers less than 200 which are 
divisible by 5    

(A) 3800 (B) 3900 (C) 4000 (D) 1000 

29. ;fn nks Øekxr fo"ke izkd`r la[;kvksa ds oxks± dk ;ksx 202 gks] rks bu 
la[;kvksa dk ;ksx gksxk   
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(A) 20 (B) 11 (C) 9 (D) 22 

If the sum of the squares of two consecutive odd natural 
numbers is 202, then the sum of these numbers is    

(A) 20 (B) 11 (C) 9 (D) 22 

30. ;fn f}?kkr lehdj.k   

042 =−− kyy  

dk ,d ewy 52 + gks] rks k dk eku gksxk    

(A) 4 (B) 3 (C) 2 (D) 1 

If one root of the quadratic equation    

042 =−− kyy  

is 52 + , then the value of  k is     

(A) 4 (B) 3 (C) 2 (D) 1 

31. lehdj.k   

   0=−+ cbyax  

tgk¡ x-v{k ij feyrk gS] og fcUnq gksxk   

(A) ⎟
⎠
⎞

⎜
⎝
⎛ 0,

a
c

 (B) ⎟
⎠
⎞

⎜
⎝
⎛

a
c,0  
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(C) ⎟
⎠
⎞

⎜
⎝
⎛

b
c,0  (D) ⎟

⎠
⎞

⎜
⎝
⎛− 0,

a
c

 

The point where the equation    

   0=−+ cbyax  

meets the x-axis is    

(A) ⎟
⎠
⎞

⎜
⎝
⎛ 0,

a
c

 (B) ⎟
⎠
⎞

⎜
⎝
⎛

a
c,0  

(C) ⎟
⎠
⎞

⎜
⎝
⎛

b
c,0  (D) ⎟

⎠
⎞

⎜
⎝
⎛− 0,

a
c

 

32. ;fn xxy 1+=  gks] rks yy 1+  dk ifjes; O;atd gksxk   

(A) 
13 24

3

++

+

xx
xx

 (B) 
xx

xx
+

++
3

24 13
 

(C) 
12 +x

x
 (D) 

xx
xx
+

++
− 3

24 13
 

If xxy 1+= , then yy 1+  as a rational expression is    

(A) 
13 24

3

++

+

xx
xx

 (B) 
xx

xx
+

++
3

24 13
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(C) 
12 +x

x
 (D) 

xx
xx
+

++
− 3

24 13
 

33. fdjk;k Ø; ;kstukvksa rFkk _.k Hkqxrku esa] fdLrsa ugha gksrh gSa   

(A) okf"kZd (B) v/kZokf"kZd  

(C) =Sekfld (D) ekfld  

In hire purchase scheme and repayment of loans, the 
instalments are not    

(A) yearly (B) half-yearly  

(C) quarterly (D) monthly 

34. fctyh dh ,d bL=h 550 #0 udn ewY; vFkok 250 #0 rRdky udn 
Hkqxrku rFkk nks ekl ckn 305 #0 ns; jkf'k ij miyC/k gSA bl ;kstuk 
esa C;kt dh nj gksxh   

(A) 40% okf"kZd (B) 30% okf"kZd  

(C) 20% okf"kZd (D) 10% okf"kZd  

An electric iron is available for Rs. 550 cash or for Rs. 250 
cash down payment together with Rs. 305 to be paid after two 
months. The rate of interest charged under this scheme is    

(A) 40% p.a. (B) 30% p.a. 

(C) 20% p.a. (D) 10% p.a. 
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Formatted35. ;fn fdlh lekUrj Js.kh ds izFke n inksa dk ;ksxQy nn 52 2 + gks] rks 
bldk rhljk in gksxk   

(A) 33 (B) 18 (C) 15 (D) 7 

If the sum of the first n terms of an A. P. is ,52 2 nn + then its 
third term is    

(A) 33 (B) 18  (C) 15 (D) 7 

36. ;fn ,d xksys dk O;kl 2R gks] rks mldk lEiw.kZ i`"Bh; {ks=Qy gksxk   

(A) 24 Rπ  (B) 23 Rπ  (C) 22 Rπ  (D) 2Rπ  

If the diameter of a sphere is 2R, then its total surface area  
is    

(A) 24 Rπ  (B) 23 Rπ  (C) 22 Rπ  (D) 2Rπ  

vk;dj x.kuk rkfydk 

¼v½ cpr %  vf/kdre 1,00,000 #0 dh vuqer cprksa ij 100% NwV  

¼c½ vk;dj dh njsa  

 LySc vk;dj 

(i) 1,00,000 #0 rd dksbZ ugha 

(ii) 1,00,001 #0 ls 1,50,000 rd 10% 

(iii) 1,50,001 #0 ls 2,50,000 rd 20% 

(iv) 2,50,001 #0 vkSj vf/kd 30% 
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¼l½ 'kSf{kd dj %  vk;dj dk 2% 

Income Tax Calculation Table 

(a) Savings : 100% exemption for permissible savings upto        
  Rs.1,00,000.   

(b) Rates of Income Tax   

 Slab Income Tax 

(i) Up to Rs. 1,00,000 No Tax 

(ii) From Rs. 1,00,001 to Rs. 1,50,000 10% 

(iii) From Rs. 1,50,001 to Rs. 2,50,000 20% 

(iv) From Rs. 2,50,001 and above 30% 

(c) Educational cess :    2% of Income  
           Tax p 
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